202449 A 30 B BAE
B/|AR—VT7EGFE—EHFTI 7 APBEHEER)

SIE4 F5a| BRR | 2B g2R | BB 9/30 | 10/1 10/2 | 10/3 | 10/4 | 10/5 | 10/6
A X 7K KX & e B
AT S | 2EkA| % E | 1030 [REBX| 12:21 - - —_ — — ©
Ho a2 B |mAB| 2 & | 1180 |ERAK| 1317 O A © A
Mucwse|sa| z = | 1300 |mzat 47| A © O A 0
FZA3TE|E A| % E | 1600 |RHKBKX| 1748 O A @) A
xm 1398 |8 B 3= | 1700 |[reEngg| 1904 | A © 0 A O
ylgware|s | 2 x| 175 amiag| 200 [ © O A o
HZAGIE |8 B| 2 % | 2059 |ERAX| 2250 O A A
Ax—o7BXIS| & B | H B | 934 |[EakBER| 1131
=m 1102 | & B [eengsg| 641 | 2 3 | 849 | A © O A O
Hoa128|&| B |ZREX| 797 | 2 = | 933 | © O A ©
p|En e8| 8 |wmiEs| 90 | & ® | 1115 A © A
HZA32E || B |[ERAK| 1335 | % & | 1625 A © A
H A3 e | thE [ERER] 1410 | 2 = | 1605 | — — — — — ©
HZA38E | B |[ERAK| 1457 | % & | 1645 | A © O A O
Npcasee| s a |mrak| 184 | 2 = | 2085 o A © A
=3 1562 |4 B [mEnEs| 1928 | 3 & | 2135 A © 0 A 0
AR—sFRXAS| B B |ERAX| 1639 | #H & | 1835
X BRAR—TPIRKANAS—IVT IERI—Y
Ol = AXE(EE &) O = B (FEEHY)
Al = WBITAR—=V7 (FiDEEHY) A = FSYHRAAT I AA—hNF—Y T
M = FE2—h5—1UYT —El = EREL
AMESHYET 3SHRE
—ESE S FHEE K - RBIERS T —

] 7B 5 4 3 2 1

ol e E ez R s
RN - NN

X BWEICKVEERLLDHZENCEVNETOT, FHITTEZS,

X EHE.BEARREFRELTVET,




